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2002
MANAGEMENT

Paper I

Time : 3 Hours | { Maximum Marks : 300

INSTRUCTIONS

I<ach question is printed both in English and in Kannada.

Answers must be written in the medium specified ( English or
Kannada ) in the Admission Tickel issued to you, which mus( be
stated clearly on the cover of the answer-book in the space
provided tor thia purposce. No eredit will be given lor the answers

written in acomedlnm ather than that specitied in (he Admission

Ticket.
Candidates shonld attempt any floe questions.

All queslions carry equid nuuks,

@

DO Wrdd 1 g e, 0@ RRwENC ERE CamicdUns; & 2P T3k dadch [und
TxOERonhd.
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Note Standard Normal Distribution Tables Wil b piovided an request,

) Whii is the difference between performance assesanment and potential

assessment in the context of assessing employees ?

(bl “Fhe best of the salesmen is the logical choice for promotion as Sales

Manager.” Comment,

Briefly describe the various conflict-management strategies adopted by peaple
when they face conflicts. Is it possible to profile the personality of a person from

the conflict-management strategy adopted by him / her ?
"Most people are reluctant to make decisions since it Is a painful process.” Discuss.

Explain the difference between “direct” and “indirect taxes" using an example for

each and explain how the two types of taxes affect the society.

Distinguish between "fiscal” and "meonitory” policies of the government and their

impact on an enterprise.

Briefly describe the major sources of revenue for the Indian Government. Evaluate

at least too of them from the point of view of developrﬁ'ent._

EL



3 30/1
Teesd : nBr §EnG, HI0H @, Sevnt fnadannnh.

(@) ToEsTUFT, DOFOIT ROWICTTy, NEHITE 223 BACES, FIONFONE TIATE 08N E
TOIHE,F Foses, o8N &3, Kl

b))  ‘TROUS FIVHOL G, T THACD TROWS XTI JFNed wHL :O,F Lok, cInh
mba::bm.

I ROPREAGSDOTTIN SROTRNT QLT XODPTF -LBFTTm T80, MYy Kog, I TN
DFOX. W, 8,00 TR By, o eELANT oPAC - TrEm fRL, 00T IO dde&:: 3
xgs,e 7

LB HE0 BENFINYE, TREL 2.000 IIATHZ T, BoDRCT A WO T Roforoli-iiagt g,
24042,

BELROTER, LOTR NITBOHADNE), oBWAeNANT:, ‘T2 8, S8, Toreg, 301 MY U
W,T9, RT3, QTOR Iy, 81 A0By Ay /NG Innwy S et Dy b vy
SOWTIT, DIWO.

XNFOS Tetsdaedo’ wody, ‘Wrleems’  Fiscal and monitory )} Redny wmas &, 23,8 884
W, womd vl mn Wed wRny SOREEEy VAL

YUE RTIEOT TOMAS TW0L Teond wrl Zod mooh OO eIy shulicnd
SO, ORFQ 00T, Tdy,ed 1 oot Tons:.

{ Turn over



30/1

4

Expo Textiles operates two mills A & B from wihere they sell cloth to three different
regions. Because of differences in production costs in the two mills { on account of

their differences in modernization ) and because of the different transportation

costs 1o the three regions, the net contribution per metre sold from each unit to the

three regions, varies and the relevant figures are given below :

Net contribution per metre
if sold in region

Mill from where supplied 1 2 a3
A 2 5 3
B 4 6 6

The weekly demand in the three regions is as below :

Region 1: 2,700 metres ; Region 2 : 4,600 metres ; Region 3 : 5,500 metres.

Mill A can produce 5,000 metres and Mill B can produce 5,000 metres per week.
Expo wants to {ind out the appropriate distribution between mills and regions to
maximize contribution.

(a)

(b)

(c)
(d)
(a)

{b)

Formulate the problem as a transportation model and get an initial feasible
solution.

What is the quantity sold and contribution obtained by selling from Mill A to
Region 2 according to your solution ?

Which Mill has unsold production as per your solution ?
Formulate the problem as a linear programming problem. No need to solve.

Discuss the potential applications of the concept of binomial distribution in the
context of management.

Daily rated employees in SLM-Devilal, an engineering firm, earns Rs. 85 per
day. The workers estimate that on the average they turn out 30 pieces per day
with a standard deviation of six pieces. Under a suggested piece rate plan.
how much will they ask per piece if they wish to earn, 90 per cent of the time,
at least their present daily income ?
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A 2 5 3
B 4 6 6

Tec: Diedny oon Wendodn 1 d9AK0d:

Hried 11 2700 Qoeosney ; Brdes 2 @ 4600 QoewdTey ; [des 3 1 5500 Loeslofriys.
& w0, WOT A, 5000 QoestntwRy, T3, Lo B, 8000 uendinivay sumy,0%g, s,
WOF DB, Friesnd Jrwd oy, HIoH Ind dezroddy sHIeYTes rtale Lok .

(a)

(o)

{c)

(d)

(a)

(b)
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(@) “Correlation does not mean causation.” Explain and elaborate on the
implications of this statement.

(b) Describe, with an example, how regression analysis can be used as a °
forecasting tool.

Evaluate the ways in which employees can be assisted to perform their duties in
the best interest of the company.

Mlustrate the relevance of Maslow's theory of hierarchical needs to the management
of human resources of an organization.

Write short notes on
(@ Standard Normal Distribution
(b) Capital budgeting.
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